Fourteenth Annual Elementary

@mﬁ CAMWS College Greek Exam (2021-2022) RNy
TIME: 50 MINUTES DO NOT USE A DICTIONARY

There is only one correct answer/choice for each question. Choose the BEST POSSIBLE ANSWER.

1. Which of the following words is NOT accented correctly?
a) Aéyouev C) AQXETE
b) dmoxgrvouat d) pavOavouev

2. The English word “gene” is derived from which Greek word?
a) Yévog C) YAwtta
b) yovn d) yn

3. The aorist form éAaBov corresponds to which present tense verb?
a) AavOavw c) Aappavw

b) Avw d) Aeimtw

4. What adjective best completes the following phrase?

N ayamnn.
a) aAnong c) &ANO
b) &AnO&c d) aAnOa

5. Which preposition best completes the following phrase?
TG HAXNG pevyopEV

a) ava C) amo
b) v d) eig

6. Which form of the definite article agrees with ovopata?
a) to C) ToV
b) ta d) tac

7. Who of the following was a great hero of the Iliad?
a) 6 ‘Ounoog c) 0 AXIAAevg
b) 6 LZwroatng d) 6 IMAatwv
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8. Each of the following agrees with 3iog EXCEPT:
a) ToLTO C) €KELVOG
b) ovtog d) tg

9. The case and number of maTEOG is:
a) nominative singular c) accusative plural
b) genitive singular d) nominative plural

10. Which of the following is NOT a comparative form of aya06c?
a) PeAtiawv C) KQElTTWYV
b) apetvwv d) mAelwv

11. The tense and voice of Tteowv is:
a) future active ) aorist active
b) present active d) perfect active

12. The plural form of tovro is:
a) Tavta C) TIV&
b) a1 d) avtat

13. Choose the form that best completes this sentence:
0 PaotAevg kpatel

a) TG MOAEwg c) 1) TtOAeL
b) 1] MOALS d) v oA

14. The form of the verb 0ida is in what tense?
a) present c) future

b) aorist d) perfect

15. Choose the pronoun that best completes this sentence:

PAémopev Tovg dvOpwmovg TAG YoaPag Eméppapev.
a) oig ) @
b) ovg d) ov

the exam continues on the next page —
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16. What is the translation of the following phrase?
O aVTOG LIOG

a) “The best son” ¢) “The son himself”
b) “The same son” d) “This son”

17. What tense and voice is ¢okomovunv?
a) aorist middle c) aorist active
b) imperfect active d) imperfect middle

18. What form would be the best replacement for the underlined words in this
sentence?
0 otoatyog £BaAe tov AlBov kat Eé0woe TV TOALV.

a) Paiwv ) PaAodpevog
b) é¢paAwv d) BaAovoa

19. What is the best translation of this sentence?
HETA TWV AQXOVTWYV TNV ELQNVIV €VENTOVOLV.

a) “Because of their rulers they will find peace”
b) “With their rulers they will find peace”

c) “On behalf of their rulers they will find peace”
d) “They will find peace in spite of their rulers”

20. What is the tense and voice of t10¢ig?
a) aorist active ) present active
b) aorist middle d) perfect active

FOR THE FOLLOWING QUESTIONS, PLEASE CONSULT THE READING
PASSAGE, WHICH YOU MAY FIND AT THE END OF THE EXAM.

21. Inlines 1-2, who overheard the magical spell?
a) a stranger hiding in the darkness
b) Deinomachus
¢) Eucrates
d) Pancrates

the exam continues on the next page —
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22. Inline 1, how much time must it have taken Pancrates to recite the spell?
a) mere seconds c) three hours
b) most of an hour d) one day

23. In lines 1-2, which word best characterizes the speaker, Eucrates?

a) angry c) sleepy
b) sincere d) sneaky

24. In lines 2-3, what did Pancrates ask the pestle to do?
a) to avoid annoying errands in the martketplace
b) to complete necessary tasks
c) to identify a spy
d) to protect the house from thieves

25. In lines 3-4, why did the speaker choose this moment to act?
a) because he didn’t want to wait until the next day
b) because he felt threatened
c) because he needed to visit the marketplace
d) because the sorcerer had left the house

26. In lines 3-5, why did the speaker issue this particular command?
a) because he feared the sorcerer
b) because he wanted to try a spell while the sorcerer was away
¢) because the house was on fire
d) because he wanted to become rich

27. In lines 5-6, why did the speaker tell the pestle to stop?
a) because he grew scared
b) because he was ready for a nap
c) because Pancrates was returning home
d) because the task was completed

28. In lines 6-7, what is the best translation of the phrase 10 d¢ ovKétt pot metbeoOat
NOeAev?

a) “I no longer wanted it to obey me.”

b) “I was no longer able to persuade it.”

c) “It no longer obeyed my wishes.”

d) “It was no longer willing to obey me.”

the exam continues on the next page —
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In lines 7-8, what is the consequence of the speaker’s actions?
a) the house is flooded with water
b) the sorcerer has been drowned
c) the water has extinguished the fire
d) the well is empty

In line 9, who or what was scared?
a) a visitor c) Pancrates
b) Eucrates d) the pestle

In lines 9-10, what inspired this fear?
a) his helplessness c) the magical axe
b) his misdeeds d) the sorcerer’s anger

In line 10, what is the best translation of the phrase 6 kat éyéveto?
a) “which became a source of anger”
b) “which, in fact, happened”
c) “who also became angry”
d) “who, indeed, happened to be scared”

In line 10, how does the speaker try to solve the problem?
a) thoughtfully ¢) with magic
b) with brute force d) with trickery

In lines 11-12, what was the result of the speaker’s action?
a) it had no impact
b) it improved the situation to a certain degree
c) it made matters worse
d) it solved the problem

In lines 12-13, what did the sorcerer realize upon his return to the house?
a) what had happened c) what was going to happen
b) what they had become d) who he had become

In lines 13, how did the sorcerer intervene?
a) he cleaned up the mess
b) he gave appropriate instructions to the speaker
¢) he halted the enchantment
d) he made additional wooden tools

the exam continues on the next page —
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37. Inlines 13-14, what seems to surprise the speaker?
a) the sorcerer’s sudden disappearance c) the sorcerer’s wrath
b) the sorcerer’s forgetfulness d) the sorcerer’s unexpected forgiveness

38. In lines 14-15, what might Deinomachus be hoping?
a) to meet the man Pancrates c) to see such magic in action
b) to learn more about Egypt d) to hear even more stories

39. In lines 15-16, how have the speaker’s magical skills developed since his time with
Pancrates?

a) his skills have improved greatly c) his skills have not improved at all

b) his skills have improved slightly d) he has forgotten all he once knew

40. Which adage best captures a lesson in this story?
a) a little knowledge is a dangerous thing
b) a poor excuse is better than none at all
c) a small leak will sink a great ship
d) many hands make light work

TEAOL
THE END

the reading passage is on the next page —
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In the passage below, Eucrates offers a first-person account for Deinomachus and other friends of a youthful
adventure in EQypt, where he met a sorcerer named Pancrates. Pancrates possessed magical knowledge. He could
animate household objects so that they would operate without human intervention. Amazed by these skills of
enchantment, Eucrates lodged with Pancrates, whose secrets he desperately wanted to learn.

1 ‘L d¢é mote Nuépa AaBwv 1kovoa ¢ ETwdTS — NV d¢ TOLOVAAAPOG oxedOV
2 — &V OKOTEWVQ OTAG. Kal 0 pév Iaykodtng 1joxeto eig v ayopav keAevoag
3 T0 UTtegov & £deL TtoLely. €yw O 1) DoTepala NUEQQR, WG EKELVOC TL €V TN

4 ayooa Emoattev, AaPwv T0 UTEQOV OXNHATIONS OHOIWS, ELTWV TOVG AOYOUG,

5 EkéAevoa VOPOPOQELY. el OE EUTATIOAUEVOV TOV AUPOQEX T)VEYKE, ‘TAVTOV,
6 Epnv, ‘Kol pncétt KOEoPOPEeL, AAA’ {oOL avOIC Vtegov” TO O OVKETL HOL

7 nel0ecOat N0eAev, AAAX VOQOPOEEL del, dixOL OT) EVETATNOEV 1)ULV TOL DdATOG

8 TV olkiav €émavTAovv.

9 “€yw O aunxavwv T Teaypatt — £dedin yap un 6 Iaykoatng éABwv

10 ayavaxtior), 6 kat éyéveto — a&ivnv AaPav téuvw 0 UTepov el dvo péen
11 T 0¢, EkATEQOV TO HEQOG, AppoEas AaBdvta DdYoPOREL Kat v’ évog dvo

12 HOL £YEYEVNVTO OL OLAKOVOL. €V ToVTW Kal 0 TTayrkeatng @atvetat kat yvoug to
13 YEVOUEVOV Ekelva eV avlig émoinoe EVAQ, S NV TTEO TS €TINS, AVTOG OE
14 AV pe AaBwv ovk old” OTtoL APAVT) IEXETO ATILWV. VOV 0OV,” £@1) O

15 Aewvopaxog, ‘oloba EtL vov €ketvo, AvOQwWTOV ToLELY €K TOV LTTEQOV; * “vi) AL,
16 €pn O’ Oc, ‘€€ MUoelag Ye' OUKETL YOQ €1C TO AQXALOV OLOV Té pot dyewy.””

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE EXAM
IN ORDER TO CONSULT THE READING PASSAGE MORE EASILY.

the glosses are on the next page —
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GLOSSES FOR THE READING PASSAGE

ayavaktéw: to be vexed

ayopda, -&g, 1: marketplace

aet: (adv) continuously, always

aunxavéw: to be at a loss

AU@oQevG, -£wg, O: jar, amphora

&avO’ évog = instead of one

aéivn, -ng, 1): axe

amwv = going away

agxaiog, -a, -ov: former, original, old

av0ic: (adv) again

d@avrg, -éc: unseen, out of sight

axot: (conj) until

Agwvopayog, -ov, 0: Deinomachus, a friend of
Eucrates

ovo: two

Ovo pot éyeyévnvTo oi didkovol
= my servant had become two

£0edin =1 was afraid

éunAnoauevov = having filled

évémAnoev =it filled

£v ToUTw = meanwhile

€€ Nuoeiag = only half way

énavtAéw: to pour

émel: (conj) when

£nwdn, -Ng, 1): magical spell

fuiv: (pronoun) for us (dat. pl.)

pnxétu (adv) no longer

pia: one

v1] At’ = Yes, by Zeus!

EvAov, -ov, T6: wood

oiov te [¢ori] (+inf) = it is possible

opoiwg: (adv) in the same way

omou: (adv) where, to which place

ovkértL: (adv) no longer

IMaykpatng, -ov, 6: the sorcerer Pancrates

ntote: (adv) at some point

mQO: (prep) before (+ gen.)

OKOTEWVOG, -1], -6v: dark

oxedov: (adv) just, only

gxnuartiCw: to arrange

ToloVAAAPOgG, -ov: three syllables

VOPOOoEEéw: to carry water

Umeov, -ov, T0: pestle (a club-shaped tool used
to grind or pound something in a mortar)

votegaiog, -, -ov: next, following

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE EXAM
IN ORDER TO CONSULT THE GLOSSES MORE EASILY.



